Chapter : 17. AREA OF BOUNDED REGIONS

Exercise : 17

Question: 1
Find the area of
Solution:

Given the boundaries of the area to be found are,

* The curve y = x2

¢ The x-axis
* x = 1 (a line parallel toy-axis)

* x = 3 (a line parallel toy-axis)

As per the given boundaries,

* The curve y = x2, has only the positive numbers as x has even power, so it is about the y-axis
equally distributed on both sides.

* x= 1 and x=3 are parallel toy-axis at of 1 and 3 units respectively from the y-axis.
e The four boundaries of the region to be found are,
+Point A, where the curve y = x% and x=3 meet

+Point B, where the curve y = x% and x=1 meet
*Point C, where the x-axis and x=1 meet i.e. C(1,0).
*Point D, where the x-axis and x=3 meet i.e. D(3,0).

Area of the required region = Area of ABCD.
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The Area of the required region = % $q.units

Question: 2

Find the area of

Solution:

Given the boundaries of the area to be found are,
+ The parabola y? = 4x

* The x-axis

* x = 1 (a line parallel toy-axis)

* x = 4 (a line parallel toy-axis)

41:3,-2
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As per the given boundaries,

* The curve y2 =4x, has only the positive numbers as y has even power, so it is about the x-axis
equally distributed on both sides.

* x= 1 and x=4 are parallel toy-axis at of 1 and 4 units respectively from the y-axis.
¢ The four boundaries of the region to be found are,

+Point A, where the curve y? = 4x and x=4 meet

+Point B, where the curve y2 = 4x and x=1 meet

*Point C, where the x-axis and x=1 meeti.e. C(1,0).

*Point D, where the x-axis and x=4 meet i.e. D(4,0).

Area of the required region = Area of ABCD.
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The Area of the required region = ? $q.units

Question: 3

Find the area und

Solution:

Given the boundaries of the area to be found are,
* The curve y = /6x +4

* The x-axis

* x = 0 (y-axis)

* x = 4 (a line parallel toy-axis)

viz+4

As per the given boundaries,
* The curve y = /6x + 4,is a curve with vertex at (0, — g).

* x=2 is parallel toy-axis at 2 units away from the y-axis.
* x=0 is the y-axis.

* The four boundaries of the region to be found are,
+Point A, where the curve y2 = 6x + 4 and x=0 meet.
+Point B, where the curve y2 = 6x + 4 and x=2 meet.
*Point C, where the x-axis and x=2 meet i.e. C(2,0).
*Point O, or the origin i.e. O(0,0).

Area of the required region = Area of OABC.
2 2
Area of OBCD = J-ydx = J- Vb6x + 4dx
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The Area of the required region = ? sq. units

Question: 4

Determine the are

Solution:

Given the boundaries of the area to be found are,
* The curve y = x3

e The y= 0, x-axis

* x = 2 (a line parallel toy-axis)

* x = 4 (a line parallel toy-axis)
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As per the given boundaries,

* The curve y = x3 is a curve with vertex at (0,0).
* x=2 is parallel toy-axis at 2 units away from the y-axis.
* x=4 is parallel toy-axis at 4 units away from the y-axis.

¢ The four boundaries of the region to be found are,
*Point A, where the curve y = x3 and x=2 meet.

+Point B, where the curve y = x3 and x=4 meet.
*Point C, where the x-axis and x=4 meet i.e. C(4,0).
*Point D, where the x-axis and x=2 meet i.e. D(2,0).

Area of the required region = Area of ABCD.

4 4

Area of ABCD = J-ydx = J-xg dx
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The Area of the required region = 60 sq. units.
Question: 5

Determine the are

Solution:

Given the boundaries of the area to be found are,
* The curve y = /a2 — x2

e x = 0 (y-axis)

* x = 4 (a line parallel toy-axis)

Here the curve, y = a2 — x2, can be re-written as

This equation (1) represents a circle equation with (0,0) as center and, a units as radius.

As x and y have even powers, the given curve will be about the x-axis and y-axis.

c0,a)
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As per the given boundaries,
* The curve y = Va2 — x2, is a curve with vertex at (0,0).

* x=4 is parallel toy-axis at 4 units away from the y-axis. (but this might not really effect the
boundaries as the value of ‘a’ in the equation is unknown.)

¢ x=0 is the y-axis.

Area of the required region = Area of OBC.
a a
Area of OBC = J-ydx=J-\fa2 — x?dx
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[Using the formula, [ /a2 — x2 dx = @4_ "; gin~?! G)]
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[sin"}(1) = 90° and sin'1(0) = 0° ]
The Area of the required region = TTGZ §q. units

Question: 6



Using integration

Solution:

Given the boundaries of the area to be found are,
* The line equation is 2y = 5x + 7

e The y= 0, x-axis

e x = 2 (a line parallel toy-axis)

¢ x = 8 (a line parallel toy-axis)

x=2 x=8 -

B ‘.—-’
A ayesxeT

a“)t
Al -
A
/'
T
il Wil D=(20)| C=(89)

.-"/

As per the given boundaries,

e The line 2y = 5x + 7.

* x=2 is parallel toy-axis at 2 units away from the y-axis.
* x=8 is parallel toy-axis at 8 units away from the y-axis.
ey = 0, the x-axis.

* The four boundaries of the region to be found are,
*Point A, where the line 2y = 5x + 7 and x=2 meet.
*Point B, where the line 2y = 5x + 7and x=8 meset.
*Point C, where the x-axis and x=8 meet i.e. C(8,0).
*Point D, where the x-axis and x=2 meet i.e. D(2,0).

The line equation 2y = 5x + 7 can be written as,

Ex+7
Y=

Area of the required region = Area of ABCD.
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Area of ABCD = J-ydx=J- 2 dx
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[Using the formula [ x"dx = % and [ cdx = cx]
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1
= - (192) =96
= (192)

The Area of the required region = 96 sq. units.
Question: 7

Find the area of

Solution:

Given the boundaries of the area to be found are,

« The parabola y? = 4x

* x = 3 (a line parallel toy-axis)

Xx=3

As per the given boundaries,

* The curve y2 =4x with vertex at (0,0), has only the positive numbers as y has even power, so it is
about the x-axis equally distributed on both sides.

* x= 3 are parallel toy-axis at 3 units from the y-axis.

* The boundaries of the region to be found are,

+Point A, where the curve y? = 4x and x=3 meet when y is positive.
+Point B, where the curve y? = 4x and x=3 meet when y is negative.
*Point C, where the x-axis and x=3 meet i.e. C(3,0).

*Point O, the origin.

Area of the required region = Area of OAB

Area of OAB = Area of OAC + Area of OBC.

[area under OAC = area under OBC as the curve y2 = 4x is symmetric]

Area of OAB = 2 x Area of OAC

3 3
Area of OAB = nyd}{: fo,@dx
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The Area of the required region = 84/3 sq.units

Question: 8
Evaluate the area
Solution:

Given the boundaries of the area to be found are,
e The ellipse, x—: + % =1

ey = 0 (x-axis)

From the equation, of the ellipse

* the vertex at (0,0) i.e. the origin,

¢ the minor axis is the x-axis and the ellipse intersects the x- axis at A(-2,0) and B(2,0).

* the major axis is the y-axis and the ellipse intersects the y- axis at C(3,0) and D(-3,0).

As x and y have even powers, the area of the ellipse will be symmetrical about the x-axis and y-
axis.

2 2
Here the ellipse, XT + % = 1, can be re-written as

}[2
2-9(1-=—

As given, the boundaries of the re to be found will be
* The ellipse, y = 2 /4 — x? with vertex at (0,0).

* The x-axis.

Now, the area to be found will be the area under the ellipse which is above the x-axis.
Area of the required region = Area of ABC.

Area of ABC = Area of AOC + Area of BOC

[area of AOC = area of BOC as the ellipse is symmetrical about the y-axis]

Area of ABC = 2 Area of BOC
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3 ——
Area of ABC = nyd}{: ZJ-EV-’}— x2dx
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[Using the formula, [ /g2 — xZ dx = @4_ "; sin~! G)]
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[sin"!(1) = 90° and sin"}(0) = 0° ]

The Area of the required region 31 sq. units
Question: 9

Using integration

Solution:

Given the boundaries of the area to be found are,
e The line equationisy = 1 + |x+1]|

* The y= 0, x-axis

* x = -2 (a line parallel toy-axis)

* x = 3 (a line parallel toy-axis)

y=0

A=(3,0)

F=(-1,0)

Consider the given line is

y=1+ [x+1]

this can be written as

y =1 +(x+1), when x+1=0 (or) y = 1 -(x+1), when x+1<0

Yy =x+4+2, when x= -1 (or) y = vy = -X, when x<-1 ----(1)

Thus the given boundaries are,

e Theliney = 1 +|x+1]|.

e x=-2 is parallel toy-axis at -2 units away from the y-axis.
* x=3 is parallel toy-axis at 3 units away from the y-axis.
ey = 0, the x-axis.

The four vertices of the region are,

*Point A, where the x-axis and x=3 meet i.e. A(3,0).

*Point B, where the liney = 1 +|x+1| and x=3 meet.



*Point C, where the liney = 1 +|x+1| and x=-2 meet.
*Point D, where the x-axis and x=-2 meet i.e. D(-2,0).
Area of the required region = Area of ABCD.

From (1) we can clearly say that, the area of ABCD has to be divided into twopieces i.e. area
under CDFE and EFAB as the line equations changes at x = -1.

-1 3 -1 3
Area of ABCD = J-ydx + J-ydx = J-(—x)dx + J-(x+2)dx
-2 -1 -2 -1

-1 3
- J-(x)dx + J-(erZ)dx =
-2 -1
g1 X 3
-~ [5)+
-1
[Using the formula [ x*dx = %Jr: and [ cdx = cx]
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The Area of the required region = % Sq. units.

Question: 10

Find the area bou

Solution:

Given the boundaries of the area to be found are,
* The curve y = 4-x2

* The y-axis

ey =0 (x - axis)

¢ yv = 3 (a line parallel to x-axis)

Consider the curve,

y = 4-x2
x2 = 4-y
x= J4—y - (1)
y=3
y=0 D=(20)

About the area to be found,



* The curve y = 4 - x2, has only the positive numbers as x has even power, so it is about the y-axis
equally distributed on both sides.

e From (1) as, x = Ji-v, the curve has its vertex at (0,4) and cannot gebeyond y = 4 as the
value of x cannot be negative and imaginary.

e y= 0 is the x - axis
e y =3 is parallel to x-axis which is 3 units away from the x-axis.

The four boundaries of the region to be found are,

*Point A, where the x-axis and x = /4 — v meet i.e.

C(-2,0).

*Point B, where the curve x = /4 —y and y=3 meet where x is negative.
*Point C, where the curve x = ,/4 — y and y=3 meet where x is positive.

*Point D, where the x-axis and x = J4—y meetie. D(2,0).

Area of the required region = Area of ABCD.

3 3
Area of ABCD = J-xdy=f\f4—ydy
0 ]

[Using the formula [ x"dx = ’;H]
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The Area of the required region = ? $q.units

Question: 11

Using integration

Solution:

Given,

* A(-1,2), B(1,6) and C (3,4) are the 3 vertices of a triangle.

B=(1,6)

From above figure we can clearly say that, the area between ABC and DEF is the area to be
found.



For finding this area, we can consider the lines AB, BC and CA which are the sides of the given
triangle. By calculating the area under these lines we can find the area of the complete region.

Consider the line AB,

If (x4.y;1) and (X3, yp) are two points, the equation of a line passing through these points can be
given by
Yy—h X— Xy

Y2—W X — Xy

Using this formula, equation of the line A(-1,2) B =(1,5)

y-(2) x-(=1
5—2  1-—(-1)

y—(Z)_ x+1

3 2
3(_+1)+2 3x+3+4 3x+7

y=3 = 5 2
Ix+7

Y=

Consider the area under AB:

B=(1,6)

A=(-1,2)

5] o
E=(1,0) D=(1,0)

From the above figure, the area under the line AB will be given by,

1 13x+7
A?'eaofABED=J-ydx=J- ( > )dx
-1

-1

3x2+ 7
- X
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+
[ using the formula, [ x™dx = % and [ cdx = cx]
n
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Area of ABDE = 7 sq. units. ---- (1)
Consider the line BC,

Using this 2-point formula for line, equation of the line B(1,5) and C (3,4)

y—() x-(1)
4—5  3-(1)




y—(5) x-1
-1 2

1—x+10 11 —x
2 2

1
= —(1—-x)+5=
y 2( x)

11 —x
2

y:

Consider the area under BC:

B=(1,8)

C=(3.4)

&
D=(1,0) F=(3,0)

From the above figure, the area under the line BC will be given by,

3 11 —x
A?'eaofBCDF=J-ydx= J-( 2 )dx
1 1

213

Fl(u Ydx= ~|11x -2
=), 2 ) R

[ using the formula, [ x™dx = % and [ cdx = cx]
n

= %[[11(3)—%)21— [11(1)—(17)2 ]
S R FHENE)

1[57—21] 36
2 2 4

Area of BCFD = 9 sq. units. ---- (2)

Consider the line CA,

Using this 2-point formula for line, equation of the line C(3,4) and A(-1,2)
y-®# x-=(3)

2—-4  —-1-(3)
v —(4) x—3
-2 -4
1(_ 3)+4 x—3+8 x+5
y=3 =T 2 T T2
x+5
Y=

Consider the area under CA:



Ce=(3:4)
L]

A=(-1,2)
@
E=(-1.0) F=(3,0)

From the above figure, the area under the line CA will be given by,

3 Pix+5
A?'eaofACFE=J-ydx=J- ( > )dx
-1

-1

Lerom-3{F)-],

[ using the formula, [ x"dx = ¥ ;nd [edx = ex]
sl 52

-3+ 5= G-5l}-2[5)-(3)

1[39—9] 48 L
20 02 1 a4

(3)?
T + 5(3)

Area of ACFE = 12 sq.units ---- (3)

If we combined, the areas under AB, BC and AC in the below graph, we can clearly say that the
area under AC (3) is overlapping the previous twoareas under AB & BC.

B=(1,5)

/‘HRH% Ak

A=(-1,2)

&
o={1,0)

&

E=(-10) (3.0)

Now, the combined area under the rABC is given by
Area under rABC

=Area under AB + Area under BC - Area under AC
From (1), (2) and (3), we get

Area under rABC =7 + 9 -12

=16 - 12 = 4 sq. units.

Therefore, area under rABC = 4 sq.units.
Question: 12

Using integration

Solution:

Given,

¢ ABC is a triangle



* Equation of side AB ofy = 4x + 5

* Equation of side BCofx + y =5

* Equation of side CA of 4y = x+5

By solving AB & BC we get the point B,
AB:y =4x+5,BC:y = 5x

4x + 5 = 5x

5x =0

x=0

by substituting x = 0 in ABwe gety =5
The point B = (0,5)

By solving BC & CA we get the point C,
AC:4y =x+5,BC:y = 5x

4y -5 = 5-y

S5y =10

y=2

by substituting y = 2 in BC we get x = 3
The point C = (3,2)

By solving AB & AC we get the point A,
AB:y =4x+5, AC : 4y = x+5

16x + 20 = x+5

15x = -15

x=-1

by substituting x =-1in ABwegety =1
The point A = (-1,1)

These points are used for obtaining the upper and lower bounds of the integral.

From the given information, the area under the triangle (colored) can be given by the below

figure.

From above figure we can clearly say that, the area between ABC and DEF is the area to be

found.

For finding this area, the line equations of the sides of the given triangle are considered. By
calculating the area under these lines we can find the area of the complete region.

Consider the line AB, y = 4x+5

The area under line AB:



v=4x + 5

B =(0,5)

A=(=-1,1)

L
F = (0, 0)
D=(-1, 0)

From the above figure, the area under the line AB will be given by,

0 0

Areaof AB = J- y_‘lﬂd;t':f (4x+ 5) dx
1 -1

0 4x° °
=J- (4x+5)dx = |[—+ 5x
. 2 .

+
[ using the formula, [ x"dx = % and [ cdx = cx]
n

= {[2(0%) + 5(0)] - [2(-1)? + 5 (-1)]}
=(0)-(2-5)=0+3=3

Area under AB = 3 sq. units. ---- (1)
Consider the line BC, y = 5-x

Consider the area under BC:

From the above figure, the area under the line BC will be given by,

3

3
Areaof BC = J-yﬁchL': J- (5—x)dx
0 0

3 x2 3
=J-(5—x)dx= [51‘—?
o 0

+
[ using the formula, [ x™dx = % and [ cdx = cx]
n

-2 o]

{[15 9] 0} 30—9 21
B 2 2 2

Area under BC = ? sq. units. ---- (2)



Consider the line AC, y = i (x +5)

Consider the area under AC:

C=(32)
_,-—-'""_ﬂ_-_‘-_ﬂ_-
A
A=(-11)
__,_,..——'-'._._-
=x+5 __,_,_.—'-'-"'_'-'__H-
—
= @ &
E=(3,0)
D=(-1,0]

!

From the above figure, the area under the line AC will be given by,

—J-EE(J(+5)d;t—E ﬁ +5;vc3
- )4 ~4]\2 N

[ using the formula, [ x™dx = x—T: and [ cdx = cx]
n
[(—1)2

1 ([(3)?
= Z [[T'i' 5(3) 5 + 5(—1)”

=3 {+ 15]- -3 [Z)-(3)

1[39—9] 48 .
a4l 2 1 8

3 }rx+5
Area of ACFE = J- Vac dx=J- ( 2 )dx
1 -1

Area under AC = 6 sq.units ---- (3)

If we combined, the areas under AB, BC and AC in the below graph, we can clearly say that the
area under AC (3) is overlapping the previous twoareas under AB & BC.

D=(-1,0)

Now, the combined area under the rABC is given by
Area under rABC
=Area under AB + Area under BC - Area under AC

From (1), (2) and (3), we get
21
Ares under AABC = 3 + 5 6

6+21—-12 21—6 15
B 2 2 2




Therefore, area under rABC = % sq.units.

Question: 13

Using integration

Solution:

Given the boundaries of the area to be found are,
* The parabola y? = 8x

* x = 2 (a line parallel toy-axis)

As per the given boundaries,

* The curve y2 =8x, has only the positive numbers as y has even power, so it is about the x-axis
equally distributed on both sides as the vertex is at (0,0).

» x= 2 is parallel toy-axis which is 2 units away from the y-axis.

The boundaries of the region to be found are,

+Point A, where the curve y2 = 8x and x=2 meet which has positive y.
+Point B, where the curve y2 = 8x and x=2 meet which has negative y.
*Point C, where the x-axis and x=2 meet i.e. C(2,0).

Area of the required region = Area under OACB.

But,

Area under OACB = Area under OAC + Area under OBC

This can also be written as,

Area under OACB = 2 x Area under OAC

[area under OAC = area under OBC as AOB is symmetrical about the x-axis.]

2
Area of OACB = nyd}{: fo,@dx
1}

2
=2><2\EJ-~.&dx= 42 =42
li]

.
[Using the formula [ x"dx = il l]

n+1

= 8\;@

(2)3_ (0)3 _ Bﬁ(zﬁ) _ (E)

3 3 3 3



The Area of the required region = % $q.units

Question: 14

Using integration

Solution:

Given the boundaries of the area to be found are,
e The line equation isy = x +1

e The y= 0, x-axis

* x = -2 (a line parallel toy-axis)

* x = 3 (a line parallel toy-axis)

Thus the given boundaries are,

e The line y = x+1.

» x=-2 is parallel toy-axis at 2 units away from the y-axis.
* x=3 is parallel toy-axis at 3 units away from the y-axis.
ey = 0, the x-axis.

The four vertices of the region are,

*Point A, where the line y = x+ and x=3 meet i.e. A(3,4).
*Point B, where the line y = x +1 and x=-1 meet i.e.
B(-2,-1).

*Point C, where the x-axis and x=-2 meet i.e. C (-2,0).
*Point D, where the x-axis and x=3 meet i.e. D(3,0).
Area of the required region = Area of ABCD.

From (1) we can clearly say that, the area of ABCD has to be divided into twopieces i.e. area
under CBE and ADE as the line equations changes the sign of x.

So the equation AB becomes negative between after it crosses the point E.
-1

3 3
Area of ABCD = J-—ydx+ J-ydx= J-(erl)dx— J-(x+ 1)dx
-1 -1 -2

-2

-1

= f(er 1dx — J_-l(x+ 1) dx



-[5)+] - [6)..

+
[Using the formula [ x*dx = T
n+1

&) el E) o[ 55) )
|(55) ]

- -G) - ()

=—=8.5
2

The Area of the required region = 8.5 sq. units.
Question: 15

Sketch the region

Solution:

Given the boundaries of the area to be found are,
« The curve y = 4x2

ey = 0, (x-axis)

* y = 2 (a line parallel to x-axis)

* y = 4 (a line parallel to x-axis)

» The area which is occurring in the 15t quadrant is required.

As per the given boundaries,

« The curve v = 4x2, has only the positive numbers as x has even power, so it is about the y-axis

equally distributed on both sides.

e y= 2 and y=4 are parallel to x-axis at of 2 and 4 units respectively from the x-axis.

As the area should be in the 15t quadrant, the four boundaries of the region to be found are,

*Point A, where the curve y = 4x2 and y-axis meet i.e. A(0,4)
*Point B, where the curve y = 4x2 and y=4 meet i.e. B(1,4)
+Point C, where the curve y = 4x2 and y=2 meet

*Point D, where the y-axis and y=2 meet i.e. D(0,2).
Consider the curve, y = 4x2

Now,

-—— [y
X =y



Area of the required region = Area of ABCD.

4

4
Area of ABCD = J-xdy= EJ-\,ydy
2 2

4

3
1]yz 1 2 [ gr
= — | — = — ¥ — 2
2|3 T273 17,
2 1
. xJ‘H-J.
[Using the formula [ x"dx = ]
n+l
1/ 3 3 1
=—|42— 2‘): = (8—2v2
3( 2- 22 ) =36
The Area of the required region = (S_Tzﬁ] $q. units

Question: 16

Sketch the region

Solution:

Given the boundaries of the area to be found are,
* The curve y = 9x2

e x = 0, (y-axis)

* y = 1 (a line parallel to x-axis)

* y = 4 (a line parallel to x-axis)

+ The area which is occurring in the 15t quadrant is required.

y = 9x2

A(0,4) B

o\ D C y=1
N4

As per the given boundaries,

* The curve y = 9x2, has only the positive numbers as x has even power, so it is about the y-axis

equally distributed on both sides.

* y= 1 and y=4 are parallel to x-axis at of 1 and 4 units respectively from the x-axis.

As the area should be in the 15t quadrant, the four boundaries of the region to be found are,

+Point A, where the curve y = 9x2 and y-axis meet i.e. A(0,4)

*Point B, where the curve y = 9x2 and y=4 meet
+Point C, where the curve y = 9x2 and y=1 meet
*Point D, where the y-axis and y=1 meet i.e. D(0,1).
Consider the curve, y = 9x2

Now,



-
Jy

=
[l
W =

Area of the required region = Area of ABCD.

4 4
! v
Area of ABCD = J-xdy= EJ-\,ydy
1 1
34
1]yz 1 z[g]"f
— | ==« Z
3|3 | 37317,
24
+
[Using the formula [ x™dx = x" l]
n+l
2(45 12) 2(8 1) 14
T\ T )79 79

The Area of the required region = ? $q.units

Question: 17

Find the area of

Solution:

Given the boundaries of the area to be found are,

« First circle, x2 + y2 =1---(1)

* Second circle, (x-1)2 + y2 =1 - (2)

From the equation, of the first circle, x2 + y2 = 1

* the vertex at (0,0) i.e. the origin

e the radius is 1 unit.

From the equation, of the second circle, (x-1)% + y2 = 1
 the vertex at (1,0) i.e. the origin

¢ the radius is 1 unit.

Now to find the point of intersection of (1) and (2), substitute y2 = 1-x2 in (2)
x-1)? +(1x?) =1

x2+1-2x+1x2=1

Substituting x in (1), we get y = i%g

So the two points, A and B where the circles (1) and (2) meet are 4 = ( ";) and B = G , _";)

[

The line connecting AB, will be intersecting the x-axis at D = G . 0)

As x and y have even powers for both the circles, they will be symmetrical about the x-axis and y-
axis.

Here the circle, x2 + y2 = 1, can be re-written as



e yE=1

¥
i
]
]
]
)
'
'
i
il
"
]
]
]
]
L]
v
]
]
]

B

Now, the area to be found will be the area is

Area of the required region = Area of OABC.

Area of OABC = Area of AOC + Area of BOC

[area of AOC = area of BOC as the circles are symmetrical about the y-axis]
Area of OABC = 2 x Area of AOC

Area of OABC = 2 (Area of OAD + Area of ADC)

[area of OAD = area of ADC as the circles are symmetrical about the x-axis]
Area of OABC = 2 (2 x Area of ADC)

Area of OABC = 4 x Area of ADC

Area of ADC is under the first circle, thus y = /(1 — x2) is the equation.

Area of OABC = 4

S L — -

1
ydx=4J-\;1— x2dx

1

F

1 1

- — _2 -
Wl— x 1 X
— | - ¥ — _ein—1(_
—4!\,(1)2 1%1){—3[ 5 +251n (1)1
F

[Using the formula, [ /a2 — x2 dx = #4_ “; sin~! (9]

[1{1— 12 1

Z qin-1 _aleN el T
> +25111 (1)] 4 +25111

T ? 1 o \.@ T 2 \.@
=a(0+3)-4|5+3 ) =”‘(7+§)=?‘7

[sin"}(1) = 90° and sin‘lé = 30°]

The Area of the required region = (23—7 — "?3) sq. units

Question: 18
Sketch the region
Solution:

Given the boundaries of the area to be found are,



* the circle, x2 + y2 = 16 (1)

* the parabola, x2 = 6y ---- (2)

From the equation, of the first circle, x2 + y2 = 16
* the vertex at (0,0) i.e. the origin

e the radius is 4 unit.

From the equation, parabola, x? = oy

 the vertex at (0,0) i.e. the origin

* Symmetric about the y-axis, as it has the even power of x.

Now to find the point of intersection of (1) and (2), substitute x = 6y in (1)
6y + y% = 16

y2 + 6y-16=0

6+ [6Z—4(1)(—16) —6+36F64 —6+VI00 —6+10
Y= 2(1) = 2 - 2 2

y=2(or)y =-8

as x cannot be imaginary, y = 2

Substituting x in (2), we get x = + 2V3

So the two points, A and B where (1) and (2) meet are A = (2v3,2) and B = (-2v3,2)

C {0,4)
'_‘_‘-——..

A (2v3,2)

'
i
1
i
1
@
D

(2v/3,0)

As x and y have even powers for both the circle and parabola, they will be symmetrical about the
x-axis and y-axis.

Consider the circle, x2 + y2 = 16, can be re-written as
y? =16 — x?

y= J6—x7)— ()

Consider the parabola, x2 = 6y, can be re-written as

2

y=S-—®

Let us drop a perpendicular from A on to x-axis. The base of the perpendicular is D = (2V 3, 0)
Now, the area to be found will be the area is

Area of the required region = Area of OACBO.

Area of OABCO= Area of OCAO+ Area of OCBO

[area of OCBO= area of OCAOas the circle is symmetrical about the y-axis]



Area of OACBO= 2 X Area of OCAO---- (D)
Area of OCAO= Area of OCAD - Area of OADO
Area of OCAOQis

243 243

1
AreaofDCACﬁ:J- J16 —x2dx — EJ- x?
0 0

wile— x2 16 oI 1P
=|—+ — sin‘l(—) e ==
2 2 4 0 6|3 0

2

[Using the formula, [ aZ — x2 dx = @4- “? sin~! (3 and [ x"dx

2 2

1[(2v3)® (0)°
_E[ 3 3

2

24316 — 12 /3 1 [48y3
= [[L+ 8 sin‘l(%)l — [0+ 8 5111‘1(0)]]— - [ A

6| 3

[sin"/(1) = 90° and sm-1§ — 60°]

~ (i 8 ()] o) - [] - T4 SR TL B

The Area of OCAO= (S'HTE‘E) Sq. units

Now substituting the area of OCAQOin equation (5)
Area of OACBO= 2 x Area of OCAO

5 (Sn + 2\,*'5) 16m + 43
B 3 3

16m+443

Area of the required region is sq. units.

Question: 19

Sketch the region

Solution:

Given the boundaries of the area to be found are,
* the circle, x2 + y% = 25 (1)

« the parabola, y2 = 8x ---- (2)

From the equation, of the first circle, x2 + y2 = 25
* the vertex at (0,0) i.e. the origin

¢ the radius is 5 units.

From the equation, of the parabola , y? = 8x

* the vertex at (0,0) i.e. the origin

e Symmetric about the x-axis, as it has the even power of y.

2\.@ 16 — (2\-@)2 2\.@ 0v16 — 02 0
+ 8 Sin_l( 7 ) — [ + 8 sin™? (E)l

|




Now to find the point of intersection of (1) and (2), substitute y2 = 8xin (1)
x2 + 8x = 25

x% + 8x-25=0

-8+,/82-4(1)(-25) -8+\64+100 -8+2V4l
2(1) B 2 B 2

as y cannot be imaginary, we reject the negative value of x

sox = —4++41

So the two points, A and B are the points where (1) and (2) meet.
The line AB meets the x-axis at D = [(vV41 -4),0]

Substitute y = 0 in (1),

x2+0=25

X =5

So the circle intersects the x-axis at C(5,0)and E(-5,0)

y2=8x

X2+y2=25

o

s e s e

As x and y have even powers for the circle, they will be symmetrical about the x-axis and y-axis.
Consider the circle, x2 + y2 = 25, can be re-written as
y?=25—x?

y= (25— x2) - (3)

Consider the parabola, y2 = 8x, can be re-written as

Now, the area to be found will be the area is

Area of the required region = Area of OACBO.

Area of OABCO= Area of OCAO+ Area of OCBO

[area of OCBO= area of OCAOas the circle is symmetrical about the y-axis]
Area of OACBO= 2 X Area of OCAO---- (5)

Area of OCAO= Area of OADO+ Area of DACD

Area of OCAOQis

f—

Jai-a
Area of OCAO = J- VBxdx — J- V25 —x2dx
[}

Jal—a

(91}



a3
= - —_ _2 - =
X2 xy25 — x 25 X
_ > __ I I B
=22 3 [ > + > sin (5)1
= yal—4
2 g

[Using the formula, [ /g2 — xZ dx = @4_ %2 sin~! G) and [ x"dy = — ]

Letv4l -4 =a

"-1-\;2
= az —0]
3
5v25 — 52+ 25 _1(5) ay2s— a? N 25 | _l(ﬂ)
> > sin g > > sin 5

2 ay2h— a 25 a
= % az —0] [[O+ — sin” 1(1)] [V—+ > sin‘l(—)

[sin'l(1) = 90° and sin"1(0) = 0°]

+ — sin~

_42 32_0] [[0 25 ] [a\,’ﬂ 225 l(a)

4\;2[ ] [ZBTE] ﬂ,\.25— a? . 25 _1(121)
az 2 s1n 3

The Area of OCAO— ‘”2 [ ]— [2”] ["‘ 25-a% | 25 G-t @] sq. units, where a = V41 - 4

Now substituting the area of OCAQOin equation (5)
Area of OACBO= 2 x Area of OCAO

[4\,2 [32] [25TE] [an 25— % Sm—l(E)

8\,2 [az] [ZBTE . [av25_ a? + 25 sin~ 1(9]

25m

Area of the required region is 2¥2 [az]
V41 -4

] [a\;’m 4 25 sin~! G)] sq. units, where a =

Question: 20
Draw a rough sket
Solution:

Given the boundaries of the area to be found are,
R = {(x,y): ¥ = 3%, 3x2 + 3y? < 16}

This can be written as

Ry = {(xy): y* = 3x}

Ry = {(x,y): 3x2 + 3y2 =16}

Then Arearequiredis = R, NR,

From R;, we can say that , y? = 3x is a parabola

y? = 3x - (1)
* With vertex at (0,0) i.e. the origin



* Symmetric about the x-axis, as it has the even power of y
From R;, we can say that, 3x2 + 3y2 = 16 is a circle

3x2 + 3y2 = 16 - (2)

* the vertex at (0,0) i.e. the origin
* the radius of % units
Now to find the point of intersection of (1) and (2), substitute y% = 3x in (2)

3x2 + 3(3x) = 16

3x2 + 9x - 16= 0

—9+.,/92-4(3)(-16) —9+.81+192 —9++273
B 2(3) B 6 B 6

as y cannot be imaginary, we reject the negative value of x

—944/273
6

So the two points, A and B are the points where (1) and (2) meet.
The line AB meets the x-axis at D = (—_9+:ﬁ, 0)

Substitute y = 0 in (2),

3x2 + 0 =16

x=t

-
ol =

So the circle intersects the x-axis at ¢ = (iﬁ O) and E = (— % 0)
Ny

3x2+ 3y =16

As x and y have even powers for the circle, they will be symmetrical about the x-axis and y-axis.

Consider the circle, 3x% 4+ 3y2 = 16, can be re-written as

Now, the area to be found will be the area is



Area of the required region = Area of OACBO.

Area of OABCO= Area of OCAO+ Area of OCBO

[area of OCBO= area of OCAOQOas the circle is symmetrical about the y-axis]
Area of OACBO= 2 x Area of OCAO---- (5)

Area of OCAO= Area of OADO+ Area of DACD

Area of OCAOQis

&
Area of OCAD = J- V3xdx+ J-
0

—9+\."ﬁ
3 3 ¥ 16 y2
— V3| + 3 +
2 g
+
[Using the formula, _[qa,? — x2dx = = T:r:]
Let—9+\."ﬁ=
23,32 3
-5 (@)
4 (16
e 4
BlW e (%
+ + 2 sint| X2
5 5 sin 3
V3
a J%— (a)? 16 a
S 3 it ——
2 4
V3
16
23 3~ (ﬂ) 16 V3a
—(az) [O+ — sin” 1(1)] — + —sin" | —
3 4
[sin}(1) = 90° and sin'1(0) = 0°]
2\5( g) 16 ] «J - (‘1) \V3a
=—I|az 5111
3 4
*'5( [-ﬂm] 1f - (a)? V3a
— - = 5111
3 4
—
The Area of 00A0= 2%(a?) + [#=] - |2 e s (432) (g umits, where g = =2/27
e Area o = (e - . - sin - )| 5q. units, where ¢ = ===

Now substituting the area of OCAQin equation (5)



Area of OACBO= 2 x Area of OCAO

_ _@(ag [‘m] lm+_51111(3a)

3 4

4\,@( g) [an] 16 (a)2 16 (vV3a
= 3 az 3 a 3 a 3 sin 2

: N T = g 16 16 . 4 (3 .
Area of the required region is % (az) - [?T] —-a J?— (@)2— 7 sin™ (”T“) sqg. units, where

=9+ 273
&

Question: 21

Draw a rough sket

Solution:

Given the boundaries of the area to be found are,
« the first parabola, y% = 4x (1)

* the second parabola, x2 = 4y - (2)

From the equation, of the first parabola, y2 = 4x
* the vertex at (0,0) i.e. the origin

e Symmetric about the x-axis, as it has the even power of y.

From the equation, of the second parabola, x2 = 4y
* the vertex at (0,0) i.e. the origin

e Symmetric about the y-axis, as it has the even power of x.

Now to find the point of intersection of (1) and (2), substitute y = x—: in (1)

1'224_
el

= 64x
x(x3- 64) = 0
x=0(r)x=4
Substituting x in (2), we gety =0 (or) y =4
So the two points, A and B where (1) and (2) meet are A = (4,4) and O= (0,0)




Consider the first parabola, y2 = 4x, can be re-written as

Consider the parabola, x? = 4y, can be re-written as

2

y=Z-—@

Let us drop a perpendicular from A on to x-axis. The base of the perpendicularis D = (4, 0)
Now, the area to be found will be the area is

Area of the required region = Area of OBACO.

Area of OBACO= Area of OBADO- Area of OCADO

Area of OBACOis

4 4
1

Area of OBACO = J-Z\de— EJ-XE

4] 0

4

3
21‘5 1 [x3]
B 43|
2

1]

[Using the formula, [ x"dx = 1
LI SN N B
—5[42— 02]—5[4 — 0°]

4 1
=38 - 5 (64

32—-16 16

3 3

The Required Area of OBACO= (?) Sq. units

Question: 22

Find by integrati

Solution:

Given the boundaries of the area to be found are,
« The curve y2 = 4ax

* y = 2a (a line parallel to x-axis)

* x = 0 (y-axis)

y= 2a

0=(0,0)

As per the given boundaries,



* The curve y? =4ax, has only the positive numbers as y has even power, so it is about the x-axis
equally distributed on both sides.

e y= 2a is parallel to x-axis with 2a units from the x-axis.

The boundaries of the region to be found are,

«Point A, where the curve y? = 4ax and y=2a meet i.e. A(2a,2a)
Point B, where the curve y? = 4ax and y-axis meet i.e. B(0,2a)
*Point O, is the origin

Consider the curve y? = 4ax,

yE

X= —
4a

Area of the required region = Area of OBA.

2a 2a 2
Area of OBA = J-xdy=J-$—ady
0 0
1 ‘};3 2a
" 4a [? .
[Using the formula [ x*dx = i

n+1
1

- 3 _ 3

= 5o [20)° = 0°]

8a® 2a’

T 12a 3
The Area of the required region = %ﬂz (. units

Question: 23
Find the area bet
Solution:

Given

. X A
* Curveisy= —+ 2sin’ x

e x =0 and
X =1

2

. X - . . . .
The given curve y = =+ 2 sin” x is similar toy = sin® x.
T

2

Now consider the y values for some random x values between 0 and m for the function y = sin“x.



X |y
0 0
T 1
6 |4
T 1
4 |2
m |3
3 |4
Y
2

2w | 3
3|4
n |0

From the table we can clearly draw the graph for y = §+ 2 sin® x

x=0

-
-
-
-
-
-
-
-

P
/

The required area under the curve is given by:
T -
l -
Area = J- [— + 2 sin? x] dx
o T

[using the property cos 2x = 1- 2sin? x]



17" T —cos2x
=—J- [x] dx +2J-7dx
Tl o 2

1 [x? n+2 l[_]n 1[511121']”
EACIA PRI BT

n+i

[using the formula, [ x"dx = ~— and [ cosx dx = sinx]

n+1

_1 _H_z_ 0—2 + 2 [E [r—0]— E[sinzl:n)— 51112(0)]}
w2 2 2 4

2 %l+ fix — 0] - S sin2(m] + 0]

= [g + {[n] — %[SinZ(H)]}

-[2]- 1o

[as sin 1 = 0, then sin 21 = 0]

. x . . am .
Hence the required area of the curve y = :+ 2 sin*x fromx = 0 tox=mis = < Sd. units.

Question: 24
Find the area of

Solution:
Given

* Curve isy = cos x

e X- axis
ex =0and
e X =21

The given curve is y = cos X.

Now consider the y values for some random x values between 0 and 2m for the function y = cos x.



X |Y
0 |1
i \;’5
6 |2
z 0
2

€ -1
3

Tl
2

2n |1

From the table we can clearly draw the graph for y = cos x

Cosla) /

From the given curve, we can say that,
For0<x<%,y=cosx
¥ 31
For%<x< g,y=-cosx
am
For?«::x < 2W,y = CosS X

The required area under the curve is given by:

Area required = Area under of OA + Area of ABC + Area under AC

T am

— — 2m
2 2
Arearequired = J- cosx dx + J; (—cosx)dx + J;_r cosx dx
i) i 21
2 2

am
=22 27

2
= J- cosx dx — cosx dx +J; cosSXx dx

o T T

ral H



n am
= (sinx)? — (sinx)7? + (sinx)3Z
7 Z

[using the formula, [ cosx dx = sinx]

[In '0] [|3}T 'H]+['2 . 3m
sin -sin sin—- -sinz sin 2m —sin—
=[1-0]-[-1-1]+ [0=(-1)]= 1+2+ 1=4
[as sin = 1, sin 21 = 0, singz—” = —1,sin0=0]

Hence the required area of the curve y = cos x from x = 0 to x=2m is 4 sq. units.
Question: 25

Compare the areas

Solution:

Given

2

e First curve y = cos“ x

* Second curve y = sin?

X
ex=0
e X=1I

Consider the curve y = cos? x

Now consider the y values for some random x values between 0 and 1 for the function y = cos? x.



X Y
0 |1
m |3
6 |4
T 1
4 |2
T 1
3 |4
i 0
2

2w | 3
3|4
m |1

From the table we can clearly draw the graph for y = cos

x=0

(0)A

5,
cos®|x)

2x

The required area under the curve is given by:

T

Arearequired = J- cos?x dx
1}
™ ™1+ cos2x
= J- cos’x dx = J- —dx
0 0 2

[using the property cos 2x = 2 cos? x - 1]



sin 2;[]"
1]

1[_+
e 2

[using the formula, [ cosx dx = sinx]

% {[n — 0]+ %[sillz(n) - 51112(0)]}

{n_l_l [0 0]} T
2 4 2
[as sin 2m = 0, sin 0 = 0]

Hence the required area of the curve y = cos? x from x = 0 to x=m is = % Sq. units. ------ (1)

Consider the curve y = sin? x

Now consider the y values for some random x values between 0 and u for the function y = sin? x.

X Y
0 0
T 1
6 |4
T 1
4 |2
m |3
3 |4
o
2

2w | 3
3|4
n |0

2

From the table we can clearly draw the graph for y = sin“ x



ANUA:Y VA

The required area under the curve is given by:
T

Arearequired = J- sin®x dx
0

T, T1—cos2x
= sin“x dx = —dx
1] 4] 2

[using the property cos 2x = 1- 2 sin? x]

1 [ sin 2;[]"
= —|X —
2 2 1,

[using the formula, [ sinx dx = cos x]

= % {[n —0] —%[sixlz(n) — 51112(0)]}

-0

[as sin 2m = 0, sin 0 = 0]

T
2
Hence the required area of the curve y = sin? x from x = 0 to x=m is = % S(. units.

From (1) and (2), we can clearly state that, the areas under

2 2

. . . . . T .
y = cos“ x and y = sin“ x are similar which is = 2 sq. units.

Question: 26

Using integration

Solution:

Given,

* ABC is a triangle

e Equation of side ABofy = 2x + 1

e Equation of side BC of y = 3x+1

¢ Equation of side CA of x=4

By solving AB & BC we get the point B,
AB:y=2x+1,BC:y=3x+1
2x+1=3x+1

x= 0

by substituting x = 0 in ABwe gety =1
The point B = (0,1)

By solving BC & CA we get the point C,



AC:x=4,BC:y=3x+1

y=12+1

y=13

The point C = (4,13)

By solving AB & AC we get the point A,

AB:y=2x+1,AC:x=4

y=8+1

y=9

The point A = (4,9)

These points are used for obtaining the upper and lower bounds of the integral.

From the given information, the area under the triangle (colored) can be given by the below
figure.

From above figure we can clearly say that, the area between ABC is the area to be found.
The required area is

Area of ABC = Area under OBCD - Area under OBAD

Now, the combined area under the rABC is given by

Area under rABC

=Area under AB + Area under BC - Area under AC

Area of the rABC=
4 4
Areaof ABC = J- (3x + 1)dx — J- (2x+ L)dx
] 0

4 4

3x° 2x*
= T+lo— T'i‘lo
=[[3(;)2_3(g)zl+[4—o]] ({4 -0]+[4—0])

={[@]+4}—{[16]+[4]}

=24+4-20=28
Therefore, area of the rABC is 8 sq.units.

Question: 27



Find area of regi

Solution:

Given,

*R={(xy):x*=y=x}

From the set we have the curve, y = x% --—--- (1)

Also the line equation y = x ------ 2)

As per the given boundaries,

* The curve y =x2, has only the positive numbers as x has even power, so it is about the y-axis
equally distributed on both sides.

* y = x is a line passing through the origin.

The boundaries of the region to be found are,

+Point A, where the curve y = x% and y=x meet, i.e. A (1,1)
*Point O, which is the origin

Drop a perpendicular D on the x-axis from A, where D = (1,0)
Now,

Area of the required region = Area of OPAQO.

Area of OPAQe+= Area of OPADe- Area of OQADO

1 1
Area of OPAQO = J-ydx— J-y dx
0 0

1 1

=J-xdx— J-xz dx
0 0

5[

2 4] 3 4]

[Using the formula [ x*dx = X

n+i

]

1 1 11 1
=—(12-02)- (13- 0}) =z —== -
3 )= 3¢ )=3737 %

The Area of the required region = é 5q.units
Question: 28
Find the area of

Solution:

Given the boundaries of the area O befound are,

-Curveisy2=2y—x



* Y-axis.

Consider the curve, y? = 2y -x
y2 -2y =x

by adding 1 on both sides

y2 -2y + 1 =-(x-1)

(y-1)? = -(x-1)

From the above equation, we can say that, the given equation is that of a parabola with vertex at
A(1,1)

Consider the line x = 0 which is the y-axis, now substituting x = 0 in the curve equation we get
yz- 2y =0

y(y-2)=0

y=0(on)y =2

So, the parabola meets the y-axis at 2 points, B (0,2) and <(0,0)

x=0

As per the given boundaries,

* The parabola y2 = 2y-x, with vertex at A(1,1).

¢ X= 0 which is the y-axis.

The boundaries of the region to be found are,

«Point A, where the curve y? = 2y-x has the extreme end the vertex i.e. A (1,1)
*Point O, which is the origin

+Point B, where the curve y? = 2y-x and the y - axis meet i.e. B (0,2)
Consider the curve,

y2 =2y-X

X = 2y - y?

Area of the required region = Area of OBAO.

1

Area of OBAO = J-xdy
1}

1

=f(2y— y*)dy
0



2y? '

2

1
[.v
u} 3 u}

n+1

[Using the formula [ x"dx = Z—]

n+1
1 1 2
=[1?-0°]- s [1°-0°]=1—Z=
[ I-31 ] 33

The Area of the required region = 2 5q.units

Question: 29

Draw a rough sket
Solution:

Given

 First curve y = cos x

¢ Second curve y = sinx
e x=0
oy =

T
2

Consider the curves y = cosx and y = sin x

Now consider the y values for some random x values between 0 and% for the functions y = cos x
and y = sin x.



y=cosX|Y =sinx

X Y X Y
0 1 0 1
s V3 | 1

6 |2 |6 |2
I 1 i 1
4 V2 | 4 V2
L I L R
3 3 |
T lo |E 1
2 2

From the above table we can clearly draw the below graphs.

x=0 X=Tm/2

cos(r)

sin(x)

The required area under the curve is given by:

Area of OAD = Area under the curve OA + Area under the curve AD

T T

4 2
Arearequired = J- Voa dx + J; Yap dx

0 ry

T

|

Fl
= J- sinx dx +J;cosx dx
o o

a



T

= [- cosx]g + [sin x]

T

e H pal =

[using the formula, [ cosx dx = sinx and [ sinx dx = — cosx]

= — [cos (g) —cos0| + [sing - sing]

1 1 2
= _(\,f_i_ 1)+ (1—E)= 2— \,—2:2_ V2
Thus the area under the curves y = cos x and y = sin x is 2 - V2 sq. units.
Question: 30
Find the area of
Solution:
Given the boundaries of the area O befound are,
s Curve is y2 = 2x +1
e Linexy=1
Consider the curve

y2 = 2x +1
5 1
(y—-0)"=2 (x+ —)
2
This clearly shows, the curve is a parabola with vertex 4 (—; . 0)

Consider the curve, y2 = 2x +1 and substitute the line x = y +1 in the curve

y2 = 2(y+1) +1

y2 =2y +2 +1
y2 =2y +3
y2-2y-3=0

—(-2)+.,/(-2)2-4(1)(-3) 2%4+12 2%Vi6 2+4
Y= 2(1) - 2 2 2
y=3(orny=-1
substitutingy inx-y = 1
x=4(or)x=0

So, the parabola meets the line x-y =1 at 2 points, B (4,3) and C (0,-1)

A=(-050




As per the given boundaries,

* The parabola y2 = 2x +1, with vertex at A(-0.5,0) and symmetric about the x-axis as y has even
powers.

e Linexy=1

The boundaries of the region to be found are,

+Point A, where the curve y2 = 2x +1 has the extreme end the vertex i.e. A (-0.5,0)

*Point B, where the curve y2 = 2x +1 and the line x-y = 1 meet i.e. B (4,3)

*Point C, where the curve y? = 2x +1 and the line x-y = 1 meet i.e. B (0,-1) on the negative y
*Point D, where the line x-y = 1 meets the x-axis i.e. D(1,0)

Consider the curve,

y2=2x+1
2x=y2—1
yi—1
X =
2

Consider the linex-y =1

x=y+1

Area of the required region = Area of ABDC

Area of ABDC = Area above CDB - Area above CAB

3 3
Area of ABDC = J-chgd}’— J-XABDCdy
-1 -1

~foeva- o nay
J 3

1[}:3
—5l= ¥
) 213

3
j_.’_z +
yV
2

-1

n+i

[Using the formula [ x"dx = ]

n+1

~ 312 - D1+ 3= (1)} 3 15 - -0 - B- (-1

1 1 1 1 (28
=E[9—1]+ 4—_[5[274'1]—[4]}:5[8]—5[?_ [4]}
B 14 _30-14 16
=4+4- o+ 2="F— =

The Area of the required region = ? $q.units

Question: 31
Find the area of
Solution:

Given the boundaries of the area O befound are,

* Curve is y = 2x - x2

e Liney = -x



Consider the curve
y=2x-X
X2 2% = - y

adding 1 on both sides

x2-2x +1 = -(y-1)

x-1)% = -(y-1)

This clearly shows, the curve is a parabola with vertex B (1,1)

Consider the curve, y = 2x - x2 and substitute the line -x = y in the curve

X = 2% - X2

x2-2x-x=0

x2-3x=0

x(x-3) =0

x=3(or)x=0

substituting x iny = x

y=-3(or)y=0

So, the parabola meets the line y = -x at 2 points, A (3,-3) and *(0,0)

g B=(1,1)

As per the given boundaries,

e The parabola y = 2x - xz, with vertex at B(1,1).

e Liney = x

The boundaries of the region to be found are,

«Point A, where the curve y = 2x - x2 and the line y = -x meet i.e. A (3,-3)
*Point B, where the curve y = 2x - x2 has the extreme end the vertex i.e. B (1,1)
«Point C, where the curve y = 2x - x% and the line y= -x meet i.e. C (2,0)

*Point O, the origin

Area of the required region = Area of OACBO

Area of OACBO= Area under OBCA - Area under line OA

3 3
Area of OBCA = J-FOBCAdX - J-yDAdx
0 1}

3

_ J-ZX—XE dx—f(—x)dx

1]



3

=J-(2x—x2+x)dx= J-Bx—xzdx

[5-5],

[Using the formula [ x*dx = X
n+1

n+i

]

3 1
-2 - 02 - 13-

1 gl—54 27 9

3
=2 3@ ===

The Area of the required region = g 5q.units

Question: 32

Find the area of
Solution:

Given the boundaries of the area O befound are,
* Curve is (y-1)% = 4 (x+1)
* Liney = x-1

Consider the curve

(y-1? =4 (x+1)
Substitute y = x-1

(x-1-1)% = 4(x+1)

(x-2)? = 4x+ 4
x2-4x+4=4x+4
x2-8x=0

xX(x-8) =

x=8(or)x=0
substituting x iny = x-1
y=7(or)y=-1

So, the parabola meets the line y = x-1 at 2 points, D (8,7) and E (0,-1)



F(0,7)

(y-1P=4(x+1)

As per the given boundaries,

* The parabola (y'-l)2 = 4 (x+1), with vertex at B(-1,1).

e Liney =x-1

The boundaries of the region to be found are,

«Point B, where the curve (y-1)2 = 4 (x+1) has the extreme end the vertex i.e. B (-1,1)
*Point D, where the curve (y-1)2 = 4 (x+1) and the line y=x + 1 meeti.e. D (8,7)
*Point E, where the curve (y-1)2 = 4 (x+1) and the line y = x-1 meeti.e. E (0,-1)
*Point O, the origin

Consider the parabola,

(y-1)? = 4(x+1)

-1 4
*= 4

Area of the required region = Area of EABCDE

Area of EABCDE = Area above line ED - Area above EABCD

7 7
Area of EABCDE = J-XED dy — J-XEABCD dy
-1 -1
7 7 ( 1)2 4
y_ p—
- Jornay - [(2 )
-1 -1

_ f(erl)dy_ J’(yz—Zy:l— 4)dy

-1

7 7
1
= [o+vay -5 [or-2-3)0
21 21

T [[vz y? ’
., Qs .

2
n+i

[Using the formula [ x"dx = J;H]

y? .
- v
2 -




- L7 - 0+ 7 - 0]

1¢1 3 3 2 2
- {5[7 - (=1)°] = [77 = (=17 - 3[7 - (—1)]}

= 18] + (8] - ; (213441 - 48] - 3(8]]

{24+ 8) [l[ae] [12] 32} 37— 20, 1g_go_ 26 _ 130-86
N 3 [2]5 = 3 N 3 3
64
3

The Area of the required region = % sg.units

Question: 33

Find the area of

Solution:

Given the boundaries of the area O befound are,
e Curveisy = vx

e Liney=x

Consider the curve

y?=x

Substitute y = x

x)? =x
x2-x=0
x(x-1) =0

x=1(or)x=0
substituting x iny = x
y=1(or)y=0

So, the parabola meets the line y = vx at 2 points, A (1,1) and <(0,0)

As per the given boundaries,

« The parabola (y)? = x, with vertex at 0(0,0).
* Liney=x
The boundaries of the region to be found are,

+Point A, where the curve (y)? = x and the line y= x meet i.e. A (1,1)



*Point O, the origin
Now, drop a perpendicular B on the x-axis from A, the point will be B(1,0)
Area of the required region = Area of OPAQO

Area of OPAQ+= Area under OPAB - Area under OQAB

1 1
Area of OPAQO = J-yopAde - J-yDQAB dx
0 ]

1 1
= J-\,J'de - J-xdx
li] 0

3
X2 x? 2 [15 OE] 1 -0
= =l — — = — 2 — 2 - = -
3 2|, 3 2 | ]
24
[Using the formula [ x*dx = nﬂ]
n+1
2 1 4-3
3 2 6 6

The Area of the required region = é 5q. units

Question: 34

Find the area of

Solution:

Given the boundaries of the area to be found are,

* the circle, x2 + y2 - 6x = 0 (1)

* the parabola, y? = 3x ---- (2)

« Area under 15! quadrant.

From the equation, of the first circle, x2 + y2 - 6x = 0
x2-6x+9+y2-9=0

(x3)2+y2=9

* the vertex at (3,0)

¢ the radius is 3 units.

From the equation, of the parabola, y2 = 3x

* the vertex at (0,0) i.e. the origin

* Symmetric about the x-axis, as it has the even power of y.
Now to find the point of intersection of (1) and (2), substitute y% = 3x in (1)
x2 +3x-6x=0

x2-3x=0

x(x-3) =0

x=3(r)x=0

Substituting x in (2), wegety =+ 3 o0ory=0

So the three points, A, B and *where (1) and (2) meet are A = (3,3) , B = (3,-3) and O=(0,0)



A=(3,3)~ y?=3x

+y-Bx=0

Consider the circle, x2 + y2 - 6x , can be re-written as
y? = 6x —x?

y= TG 3 ()

Consider the parabola, y2 = 3x, can be re-written as

Let us drop a perpendicular from A on to x-axis. The base of the perpendicular is C = (3, 0)
Now, the area to be found will be the area is

Area of the required region = Area between the circle and the parabola at OA.

Area of OA= Area under circle OAC - Area under parabola OAC

Area of OA is

Area OfOA = J-ycircledx_ J-yparaboladx
0

f9—(1—3) fB [3x dx

[Using the formula, [ /g2 — xZ dx = @4_ % sin~! G) and [ x"dy = — ]

3

Bal

3
(x—3)y9— (x—3)? ,{X—3 =X
[ > +—5111(3)—\,3?
] 7 o

(e )
[R5 20

fg — 3 — 32 _2y./9— g9 _
”0\,9 (3-3)° + — sin” 1 g)]— [7( 3)\’29 9+ g 5111‘1(—3)”

2 2 3
T
(3] ol - -3 (5o E -

3
= E (31"[ 8)

[sin}(-1) = -90°]



Area of the required region is 2 (31 — 8) sq. units.

Question: 35
Find the area bou

Solution:

Given

e Curve isy = cos x

*x =0 and

e X =21

The given curve is y = cos Xx.

Now consider the y values for some random x values between 0 and 2 for the function y = cos x.

X |Y
0 |1
il \,@
6 |2
" 0
2

@ -1
3

Tlo
2

2m |1

From the table we can clearly draw the graph for y = cos x

™
cos(x) / B
' ' —@
\_/ :

&
2 3n
>

From the given curve, we can say that,



For0<x<§,y=cosx
For%<x< az—n,y=-cosx

For?<x< 2T,y =cCosX

The required area under the curve is given by:

Area required = Area under of OA + Area of ABC + Area under AC

T am

5 2m
2 2
Arearequired = J- cosx dx + J; (—cosx)dx + J;_r cosx dx
i) i 21
2 2

T am
3 = 2w
= J- cosx dx — cosx dx + J- cosSXx dx
T am
0 —_
2
= 3m
= (sinx)2 — (sinx)2? + (sinx)3}
z Z

[using the formula, [ cosx dx = sinx]

il
= [sini -s5in 0] [5111— - sm—] [sm 2T — 5111—

=[1-0]-[-1-1]+[0-(-1)]=1+2+1=4

[as sinZ =1, sin2m =0, sinZ* = —1, sin 0 = 0]

Hence the required area of the curve y = cos x from x = 0 to x=21m is 4 sq. units.
Question: 36

Given the boundaries of the area to be found are,

* the circle, x2 + y2 = 32 (1)

* the line, y = x---- (2)

¢ Area should be in first quadrant.

From the equation, of the first circle, x2 + y% = 32

* the vertex at (0,0) i.e. the origin

* the radius is 4v2 unit.

Now to find the point of intersection of (1) and (2), substitute y = x in (1)
x2 + x2 = 32

2x2 = 32

x2 =16

x==*4

Substituting x in (2), we gety =+ 4

So the two points, A and B where (1) and (2) meet are A = (4,4) and B = (-4,-4)



e /zﬁ-ﬂ-.-d]

As x and y have even powers for both the circles, they will be symmetrical about the x-axis and y-
axis.

Consider the circle, x2 + y2 = 32, can be re-written as

y?=32-x?
y= (32— x2)---- (3)

Let us drop a perpendicular from A on to x-axis. The base of the perpendicular is C = (4, 0)
Now, the area to be found will be the area is

Area of the required region = Area of OADO.

Area of OADO= Area of OAC++ Area of CADC

Area of OADOis

4 4
Area of OADO = J-\f32—x2dx+ J-xdx

4-,"5 o
[w—m— 2 32 _1( X )r . [xzr
=|———+ —sin"" |——= -
2 2 42 42 2 0

n+i

[Using the formula, [ /g2 — xZ dx = @4_ "“?2 sin~?! (f) and [ x"dx = J;H
[«

1( 4 )]_ (4V2) [32— (4v/2)?

~ [(4)\;32— @2 32

232
5 2 sln 4\15 2
32 42 (4)? 02
— —sin*{—=]|t+ {|—=|- |=
2 42 2 2
(4vV32—16 32 (1 4/2V32-32 32 | 16
=y|——F——+ & sin” (—) - —sin" (1) ¢+ [[—”
2 2 V2 2 2 2

[sin'l(1) = 90° and sin~* (=) = 45°]
v 2

=[8+16 (g)]—[%(o)]— {16} =8+ 4w —8 = 47

=4n
Area of the required region is 41 sq. units.

Question: 37



Given,

* A(2,3), B(4,7) and C (6,2) are the 3 vertices of a triangle.

B=(4,7)
A=(2 3)
C=(62)
@ @ @
D=(2 0) E = (4, 0) F = (6, 0)

From above figure we can clearly say that, the area between ABC and DEF is the area to be
found.

For finding this area, we can consider the lines AB, BC and CA which are the sides of the given
triangle. By calculating the area under these lines we can find the area of the complete region.

Consider the line AB,

If (x4.y;) and (X3, yp) are two points, the equation of a line passing through these points can be

given by
y—mn X—x

Yo" X — Xy
Using this formula, equation of the line A(2,3) B =(4,7)

y-03) x-(2)
7-3 4-—(2)

y—1(3) x-2
4 2

4
y=i(x—2)+3

y=2x-4+3
y = 2x-1

Consider the area under AB:

A= (2 3)

o
E = (4, 0)

D=(2,0)

From the above figure, the area under the line AB will be given by,



Area of ABED = J-
2

1 1
ydx = J- (2x — 1) dx
2

l'2

= J-‘L(Zx— 1) dx = Z[EI — [x13=[x*— x]3

+
[ using the formula, [ x™dx = % and [ cdx = cx]
n

=[42-4]-[22-2]1=12-2=10

Area of ABDE = 10 sq. units. ---- (1)

Consider the line BC,

Using this 2-point formula for line, equation of the line B(4,7) and C (6,2)

y=07) x-(4)
2—-7  6—(4)

yv—1(7) x-—4
-5 2

20—5x+ 14 34—5x
2 2

5
= (4—x)+7 =
y 2( x)

34 —bx
2

y:

Consider the area under BC:

B=(4,7)

C=(8B, 2)

o
E={(4,0) F=(60)

From the above figure, the area under the line BC will be given by,

& /34— bx
Area of BCDF = J- ydx = J- ( ) dx
4’ 4 2

&1 1
= J- —(34—-5x)dx= —|34x ——
, 2 2 \

+
[ using the formula, [ x™dx = % and [ cdx = cx]
n

- Hflow0- 2] [oxo ]

2 2 2
! {[204 180] [136 80]} 1 [204 —90] 1[136 40]
T2 2 21 2 2

114 - 96
= 5 =

Area of BCFE = 9 sq. units. ---- (2)

Consider the line CA,



Using this 2-point formula for line, equation of the line C(6,2)and A(2,3)

y—(2) x—(6)
3-2  2—(6)

y—(2) x—6
1 -4
1(6 Y2 6—x+8 14 — x
Y=g ume=s T Ty
14 — x
Y= 73

Consider the area under CA:

A=(2.3)e
C=62)
@
__._. = =y - [
D=(2 0) F=(6,0)

From the above figure, the area under the line CA will be given by,

¢ ®r14—x
Areaof ACFE = J- ].FdJ(:f ( )dx
2 2 4

61 1 x2]°
= | Z(14-x)dx= > |14x - =
£4( x) dx 4[ X ZL

[ using the formula, [ x™dx = ﬂ? and [ cdx = cx]

n+
1 6° 22

- [[14(6)— — |- [14(2)— E”

1 3

= E{[84_?6]_ [28—2]}=%[66—26]= ?=10

Area of ACFD = 10 sq.units ---- (3)

If we combined, the areas under AB, BC and AC in the below graph, we can clearly say that the
area under AC (3) is overlapping the previous twoareas under AB & BC.

B=(4,7)

A=(23)
G

(6. 2)

o . lé) ©
D=(2 0) E=(4,0) F=(6,0)

Now, the combined area under the rABC is given by

Area under rABC



=Area under AB + Area under BC - Area under AC
From (1), (2) and (3), we get

Area under rABC = 10+9-10 =9

Therefore, area under rABC = 9 sq.units.
Question: 38

Given,

* A(1,3), B(2,5) and C (3,4) are the 3 vertices of a triangle.

B=(2 5)
C=(3,4)
A=(1,3)
O O ©
D=(1,0) E=(2,0) F=(3,0)

From above figure we can clearly say that, the area between ABC and DEF is the area to be
found.

For finding this area, we can consider the lines AB, BC and CA which are the sides of the given
triangle. By calculating the area under these lines we can find the area of the complete region.

Consider the line AB,

If (x4,y;1) and (xp, yp) are two points, the equation of a line passing through these points can be

given by
y—m"m X—Xx
Y2—W X — Xy

Using this formula, equation of the line A(1,3) B =(2,5)

y—(3) x—(1)
5—-3  2—(1)

y—(3) x-1
21

y=2x-2+3
y = 2x+1

Consider the area under AB:



B=(2,b)

A=(1,3)

) @
D=(1.00 E=(0)

From the above figure, the area under the line AB will be given by,

2 2
Areaof ABED = J- ydx = J- (2x + 1) dx
1 1

= J- (2x+1)dx=2[%] + [x)3=[x*+ x]?

+
[ using the formula, [ x™dx = % and [ cdx = cx]
n

=[22+2]-[12+1]1=6-2=4

Area of ABDE = 4 sq. units. ---- (1)

Consider the line BC,

Using this 2-point formula for line, equation of the line B(2,5) and C (3,4)

y—(0) x-(2)
4—5  3-(2)

y—(5) x-2

-1 1
y-5=2-x
y=7%Xx

Consider the area under BC:

B=(2,5)

\C = (3, 4)

4 @
E=(2,0) F=(3,0

From the above figure, the area under the line BC will be given by,



3

3
Areaof BCDF = J-ydx= J- (7 —x) dx
2 2

3 x2 3
=J-(7—x)dx= [Tx—?
2 2

+
[ using the formula, [ x™dx = % and [ cdx = cx]
n

-2 -2

{[21 9] 14 2]} 42 -9 i 33—-24 9
B 2 T2 2 2

Area of BCFE = 3 sq. units. ---- (2)

Consider the line CA,

Using this 2-point formula for line, equation of the line C(3,4)and A(1,3)

y-4) x-(3)
3—4 1-(3)

y—(4) x-3

1 2
1(_ 3)+4 x—3+8 x+5
y=3\ T T2 T2
x+5
Y=

Consider the area under CA:

C=(34)
@
A=(1,3)eg
4 @ — -
D=(1,0) F=(30)

From the above figure, the area under the line CA will be given by,

3 3ix+5
Areaof ACFE = J-yd;t':f ( > )dx
1 1

31 1] %2 :
= | S(x+5)dr=-|%+5x
£2(1 ) dx 2[2 xL

[ using the formula, [ x™dx = % and [ cdx = cx]
n

1 32 12

3 e el oo

Area of ACFD = 7 sq.units ---- (3)




If we combined, the areas under AB, BC and AC in the below graph, we can clearly say that the
area under AC (3) is overlapping the previous twoareas under AB & BC.

B=(2,5)
G348
A=(1,3)g
o ) e}
PDEigy E¥d.0) Feid0)

Now, the combined area under the rABC is given by
Area under rABC
=Area under AB + Area under BC - Area under AC

From (1), (2) and (3), we get

AreaunderrABCz-ﬂ:-l—S—?: 3—32%

Therefore, area under rABC = g sq.units.

Question: 39

Given,

* ABC is a triangle

* Equation of side ABofy = 2x + 1

¢ Equation of side BC of y = 3x+1

* Equation of side CA of x=4

By solving AB & BC we get the point B,
AB:y=2x+1,BC:y = 3x+1

2x+1 = 3x+1

x=0

by substituting x = 0 in ABwe gety =1
The point B = (0,1)

By solving BC & CA we get the point C,
AC:x=4,BC:y = 3x+1

y=124+1 =13

y=13

The point C = (4,13)

By solving AB & AC we get the point A,
AB:y=2x+1,AC:x=4

y=8+1=9



y=9
The point A = (4,9)
These points are used for obtaining the upper and lower bounds of the integral.

From the given information, the area under the triangle (colored) can be given by the below
figure.

- &
Q= (0, 0) D=(4,0)

y=2x+1

From above figure we can clearly say that, the area between ABC is the area to be found.

For finding this area, the line equations of the sides of the given triangle are considered. By
calculating the area under these lines we can find the area of the complete region.

Consider the line AB, y = 4x+5

The area under line AB:

B=(0, 1)

©
?:2“1// 0 =(0,0) D = (4, 0)

From the above figure, the area under the line AB will be given by,

4 4
Areaof AB = J-yAB dx = J- (2x+ 1) dx
0 4]

N 2x? *
=J-(2x+1)dx= -t
0 0

+
[ using the formula, fx“dx = % and f cdx = cx]
n

= {[4%) + D]1-1(0)? + 0)]}
=20



Area under AB = 20 sq. units. ---- (1)
Consider the line BC, y = 3x+1

Consider the area under BC:

B=(0 1)

O=(00) Tn = (4, 0)

From the above figure, the area under the line BC will be given by,

4 4
Areaof BC = J- Vge dx = J- (3x+ 1) dx
0 4]

* 3x° *
=J-(3x+l)dx= —+x
0 2

1]

[ using the formula, [ x™dx = %Jr: and [ cdx = cx]
n

e [T el

2 2
Area under BC = 28 sq. units. ---- (2)

= 24+4-0= 28

If we area under AB is removed from BC from the graph, we can obtain the area required.

Now, the combined area under the rABC is given by
Area under rABC =Area under BC - Area under AB
From (1), (2), we get

Area under rABC = 28 -20 =8

Therefore, area under rABC = 8 sq.units.






